1683

.80

1500

103,

/50
680
ﬂ_i,
i3
L] =
D B
O| ™~
N
/30
680
| $200
1 o
]
]
]
]
5
g
— n

1 | CABINET 1 | 680 x 680 x 1500 x 1.6t
2 | TURBO BLOWER 1 | L3kw x 25CMM x 230mmAq
3 | HEPA FILTER 1 | 610 x 610 x 150t

4 | CFMFILTER 1 | 610 x 610 x 150t

S | PREFILTER 1 [ 610 x 610 x 20t

6 | OUTLET FLANGE 1 | #200

7 | LIFT LUG 4 | I-NUT M12

8 | CONTROL PANEL 1 | CONTROL SWITCH

9 | POWER CABLE 1 | VCTF CABLE

10 | INLET FLANGE 1 [ 9130

11 | DUST BOX 1 | 198LITER

12 | CASTER 4 | ROTATION 3* STOPPER

1 o =
z

150 |

A5

O
=
s

1683

¥¥*% CHECK POINTS *xx

i p—
SPECIFICATION

MODEL NAME | NM-20 OPTIN | -
FAN SPEC

FAN DIVISION | TURBO BLOWER

AIR VOLUME 25 CMM

STATIC 230 mmAq

MOTOR 1Skw [2HP] POWER 380V x 3P
FILTER SPEC.
PRE FILTER MATERIAL | POLYESTER
15T SIZE | 610 x 610 x 20t AREA -
2TH CFM FILTER MATERIAL | GLASS
SIZE | 610 x 610 x 150t AREA -
HEPA FILTER MATERIAL | GLASS
3 SIZE | 610 x 610 x 150t AREA -
*¥xx PAINT COLDOR x*x
BODY : EX8816¢S) 5Y %
DOOR : EX8816-DIC546 %
awweazmen _ Lpiz2 b&lsnz A3 | CUSTINER | -
nn ISCALE 1/1 TITLE MINUTE DUST COLLECTIR
NANOS  ["1RaWN [aPPROVED
2998 4z gyl BEN - nw%su NM-20
wwwl-nanos.cokr 121031 -




860
790
\ g1
%l
=t
IR
O~
1=13
z N
860
790
9250
= o | -l
f i
q i
AR
f i
23 o
aﬁ
q i
f i
al
At
i — 1]
3 0 i}
=

1 | CABINET 1 [ 790 x 790 x 1860 x 16t
2 | TURBO BLOWER 1 | 22kw x 40CMM x 230mmAq
3 | HEPA FILTER 1 | 610 x 610 x 292t

4 | CFMFILTER 1 | 610 x 610 x 292

S | PREFILTER 1 [ 610 x 610 x 20t

6 | OUTLET FLANGE 1 | 250

7 | LIFT LUG 4 | I-NUT M12

8 | CONTROL PANEL 1 | CONTROL SWITCH

9 | POWER CABLE 1 | VCTF CABLE

10 | INLET FLANGE 1 [ @200

11 | DUST BOX 1 | 308 LITER

12 | CASTER 4 | ROTATION 4 STOPPER

860
/90
| ®e sl |
2o
0|2
oy
i
=
0,
=

¥¥*% CHECK POINTS *xx

i p—

SPECIFICATION

MODEL NAME | NM-30 OPTIN | -

FAN SPEC,

FAN DIVISION | TURBD BLOWER

AR VOLUME | 40 CMM STATIC | 230 mmAq

MOTOR 22kv [3HP1 POVER | 380V x 3P

FILTER SPEC.

7 |LPREFLLTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20¢ AREA -

ory |LCTMFILTER MATERIAL | GLASS
SIZE | 610 x 610 x 292t AREA -
HEPA FILTER MATERIAL | GLASS

™ s | 610 x 610 x 292t AREA -

k% PAINT COLOR %%
BODY : EX8816¢(S) 5Y %
DOOR : EX8816-DIC546 %

20 e aven Lje2 IQE-lstzs A3 | CUSTOMR | -

nn |SI:ALE 1/1 TITLE MINUTE DUST COLLECTIR

NANOS  [“pRavN [APPROVED)
NANDS

2998 dE g| BBM - VG, NI NM-30
wwwl-nanos.cokr 121031 -




860

/790

860
/90

i
A N\
860
790
| ?300 |
g | -
1
1
=
1
S
Sjed
1
]
—_— 0
g U
&

$50

1 | CABINET 1 [ 790 x 790 x 2010 x 1.6t
2 | TURBO BLOWER 1 | 37kw x 60CMM x 230mmAq
3 | HEPAFILTER 1 | 610 x 610 x 2921

4 | CFMFILTER 1 [ 610 x 610 x 292t

S | PREFILTER 1 [ 610 x 610 x 20t

6 | OUTLET FLANGE 1 | @300

7 | LIFT LUG 4 | I-NUT M12

8 | CONTROL PANEL 1 | CONTROL SWITCH

9 | POWER CABLE 1 | VCTF CABLE

10 | INLET FLANGE 1 [ 9230

11 | DUST BOX 1 | 308 LITER

12 | CASTER 4 | ROTATION 4 STOPPER

100

2010
2238

aet

340

128

¥¥*% CHECK POINTS *xx

A . ——=
SPECIFICATION
MODEL NAME | NM-50 OPTION -
FAN SPEC.
FAN DIVISION | TURBO BLOWER
AIR VOLUME 60 CMM STATIC 230 mmAq
MOTOR 37kv [SHP] POWER 380V x 3P
FILTER SPEC.
ST PRE FILTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20t AREA -
2TH CFM FILTER MATERIAL | GLASS
SIZE | 610 x 610 x 292t AREA -
HEPA FILTER MATERIAL | GLASS
3 SIZE | 610 x 610 x 292t AREA -
¥k PAINT COLOR #x
BODY : EX8816¢S) 5Y %
DOOR : EX8816-DIC546 %
a4 maanver _ Lpc2 b&lstz: A3 | cusTOMR | -
nn |SI:ALE 1/1 TITLE MINUTE DUST COLLECTIR
NANDS  ["oRawN_[aPPROVED
2998 4z gyl BEN - nw%su NM-50
wwwl-nanos.cokr 121031 -




870

°c88

1 CABINET 1 790 x 790 x 2060 x 1.6t
2 TURBO BLOWER 1 9.o0kw x 80CMM x 250mmAq
1935 3 HEPA FILTER 2 | 610 x 610 x 292t
1480 . 420 4 CFM FILTER 2 610 x 610 x 292t
| 5 PRE FILTER 2 | 610 x 610 x 20t
T 6 OUTLET FLANGE 1 350
4 Q 7 LIFT LUG 6 [-NUT Mi12
q 8 CONTROL PANEL 1 CONTROL SWITCH
_ 9 POWER CABLE 1 V.C.TF CABLE
= 23 10 | INLET FLANGE 1 300
<o Jp o 1 DUST BOX 2 | 56.3 LITER
/ - 12 | CASTER 6 | ROTATION 4 STOPPER
=
= N
¥¥x CHECK POINTS *xx
1550 870 A ——-
1480 800
- 2330 _ - 2350 _
() ()
g | o | Q| o | 1=
i — i & SPECIFICATION
mi ° I:] W H MODEL NAME | NM-73 OPTION -
A FAN SPEC.
FAN DIVISION | TURBO BLOWER
AIR VOLUME 80 CMM STATIC 250 mmAq
] I3 MOTOR SS9 kw [79HP 1] POWER 380V x 3P
Ba FILTER SPEC.
I ST PRE FILTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20t x 2EA AREA -
% ] E 0 3 % 2TH CFM FI|LTER MATERIAL | GLASS
S S SIZE | 610 x 610 x 292t x 2EA AREA -
- e 3TH HEPA FILTER MATERIAL | GLASS
] E h SIZE | 610 x 610 x 292t x 2EA AREA -
v - 2300 _, 2300 _, ¥ PAINT COLOR xxx
— b BODY : EX8816¢S) 5Y %
| | —=_]. DOOR : EX8816-DIC546 %
. 5 5 . o
L (9]
= O — p = anmaaven e |$E-|SIZE M | customr | -
Q0 U ee) LL] |SI:ALE 1/1 TITLE MINUTE DUST COLLECTIR
= o NANDS  ["pRawN [aPPROVED

NANDS
B34 az gun - NM-75
1 s cokr — DIVG. NO.




470

1 | CABINET 1 [ 790 x 790 x 2060 x 16t
2 | TURBO BLOWER 1 | 9Skw x 80CMM x 230mmAq
3 | HEPA FILTER 2 | 610 x 610 x 292t

4 | CFMFILTER 2 | 610 x 610 x 292t

S | PREFILTER 2 | 610 x 610 x 20

6 | OUTLET FLANGE 1 | 2400

7 | LIFT LUG 6 | I-NUT M12

8 | CONTROL PANEL 1 | CONTROL SWITCH

9 | POWER CABLE 1 | VCTF CABLE

10 | INLET FLANGE 1 [ 9330

11 | DUST BOX 2 | 563 LITER

12 | CASTER 6 | ROTATION 4 STOPPER

</_
218 S 3
o0|C0 ™M D
=
1] >
1550 870
1430 300
?400 | | ?400 |
g Q | | | | S
T | 6
Il i |
o) 0 1=
H A
2% s
S S
i
~ 9350 _ - 2350 _
g _|—|_
| I |
]
L (9P
—— 1 g —
0, (o8]
N s

¥¥*% CHECK POINTS *xx

A ———
SPECIFICATION
MODEL NAME | NM-100 OPTIIN | -
FAN SPEC,
FAN DIVISION | TURBD BLOVER
AR VOLUME | 100 CMM STATIC | 250 mmAq
MOTOR 7.5 kw [10 HP ] POWER | 380V x 3P
FILTER SPEC.
js7 L TREFILTER MATERIAL | POLYESTER
SIZE | 610 x 610 x 20t x 2EA AREA -
ory |LOPMFILTER MATERIAL | GLASS
SIZE | 610 x 610 x 292t x 2EA | AREA -
HEPA FILTER MATERIAL | GLASS
™ sz | 610x610x 292t x 2EA | AREA -
xx¢ PAINT COLOR e
BODY : EX8816¢S) 5Y %
DOCR : EX8816-DICS46 %
adweqzven Lz bE-lSIZE A3 | CUSTOMER -
nn |SI:ALE 171 TITLE MINUTE DUST COLLECTIR

NANOS  ["DRAVN [APPROVED)
NANDS

2398 qF 7| BBM - VG NI, NM-100
wwwl-nanos.cokr 1210.31 -




